Matrix
Exercise 1.4 for Class IX

Page- |

Q.1: Which of the following product of matrices is conformable for multiplication ,
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Q.2:1fA= [_1 2] ,B = [5], find (i) AB and (ii) BA (if possible).

Q.3: Find the product of following matrices:
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Q.4: Multiply the following matrices.
B B 1 2
QI F 0 [} 23 4
(1 214 2 3 85[2—5]
. 3 *la s : d)fg 4 4 A
o[ 3l o
Q.5:LetA = [_; (?;]'B = [_:1)’ _25] and C = [i ;],verify whether:

{i). AB=BA
(ii). A(BC)=(AB)C
(iii). A(B +C) = AB.+AC

(iv). A(B—C) = AB - AC
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] and C = [_3

: -1 3 _ 6 : .
QG For the matrices A = [ 2 0],3 = [ _9] , Verify that:
(i). (AB)" = B'A"

(ii).(BC)* = B*C*



